_( SupportUnitOfBall Screw

e

"""G'Z'S:upport Unit Of
Ball Screw

5=
=
o
=
=]
o
o
=
w

99



() ABBA
6.1 Recommended Shaft End Shape - BK.FK.EK

For Support Unit Type BK and FK and EK Fixed Side

= M ~

=

2 N

- -—d
S
F| &
Unit : mm
Model No. B;;:Li%zw Sggm;tﬁig%)grt Metric screw thread
BK (Type BK) d A M
BK 10 12/14/15 10 8 36 15 M10X1 112
BK 12 14/15/16 12 10 36 15 M12X1 12
BK 15 18/20 15 12 40 20 M15X1 12
BK 17 20/25 17 15 a3 23 M17X1 17
BK 20 25/28 20 17 53 25 M20X1 5
BK 25 32/36 25 20 66 30 M25X1.5 20
BK 30 36/40 30 25 163 38 M30X1.5 25
BK 35 45 35 30 82 45 M35X1.5 26
BK 40 50 40 35 94 50 M40X1.5 30
Unit : mm
Model No. B;:;ﬁ%%w Sgﬂgﬁ%’g“ Metric screw thread
Type FK Type EK d B M

FK 06 EK 06 8 6 4 28 8 M6X0.75 8
FK 08 EK 08 10/12 8 6 32 9 M8X1 10
FK 10 EK 10 12/14/15 10 8 36 156 M10X1 12
FK 12 EK 12 14/15/16 12 10 36 15 M12X1 12
FK 15 EK 15 18/20 15 12 48 20 M15X1 13
FK 17 = 20/25 17 15 59 23 M17X1 17
FK 20 EK 20 25/28/30 20 17 64 25 M20X1 16
FK 25 - 30/32/36 25 20 76 30 M25X1.5 20
FK 30 i 36/40 30 23 73 38 M30X1.5 23

100



I Support Unit Of Ball Screw
6.2 Recommended Shaft End Shape - FF.EF.BF

For Support Unit Type FF and EF and BF (Floated Side)

in= H | TypeEF

Type FF Type FF | Type BF

o ™=

ool £

+ 1 <

m Q

Q
J
) E ffffff | —
G +g.14
F 0.2
o 0
E
Unit : mm
Model No. %ﬁgf?ggw Shaft Support Portion OD Snap-ring Groove
Type: FF/EF/BF d =

FF/EF06 8 6 9 5.7 6.8 0.8
EF 08 10 6 9 8.7 6.8 0.8
FF/EF/BF10 12/14/15 8 10 7.6 7.9 0.9
FF/EF/BF12  14/15/16 10 11 9.6 9.15 118
FF/EF/BF15 18/20 15 13 14.3 1015 1215
FF/BF17 20/25 17 16 162 13.15 1545
* FF/EF/BF20  25/28/30 20 19 (16) 19 15.35(13.35) 1.35
FF/BF 25 30/32/36 25 20 23.9 16.35 1.35
FF/BF 30 36/40 30 21 28.6 17.75 175
BF 35 40/45 b6 22 33 18.75 175
BF 40 50 40 23 38 19.95 1.95

Note: ( ) shows the dimension of BF20 which is different from those of type FF20 and EF20. When placing an order,
always specify the model number of the Support Unit to be used.

101



() ABBA
6.3 FK ( Fixed Side )

4-X drill through @Y counter bore depthZ

I
pd1
pDgé

Unit : mm
Model No. H E: '‘Bg6i| A Z
FK 5 5 16.5 6 105 185 20 34 26 26 55 35 5 3 34 65 4 M3 11
FK 6 6 20 T 1fie] 22 22 36 28 28 5.5 (8350 165 4.5 34 65 4 M3 12
FK 8 8 23 9 14 26 28 43 35 35 7 4 8 5 34 65 4 M3 14
FK 10 10 27 10 17 295 34 52 42 42 75 5 25 6 4.5 8 4 M3 16
FK 12 12 27 10 17 295 36 54 44 4 75 5 8.5 6 45 4 M4 19
FK 15 15 32 15 17 36 40 63 50 52 10 6 12 8 55 95 6 M4 22
FK 17 17 45 22 23 47 50 i 62 61 " 9 14 12 6.6 11 10 M4 24

FK 20 20 52 22 30 50 57 85 70 68 8 10 12 14 6601 11 10 M4 30
FK 25 25 57 27 30 59 63 98 80 79 13 10 20 17 9 15 13 M5 35
FK 30 30 62 30 32 61 i |l | e 93 11 12 17 18 4108 M58 5 M6 40

102



4 Support Unit Of Ball Screw

4-X drill through @Y counter bore depthZ

2A
PCD

Unit : mm
Model No. d1 L H F Dg6 A PCD B X

FF 06 6 10 64 22 36 28 28 3.46 =
FF 10 8 12 5 28 43 35 35 34 =
FF 12 10 15 8 34 52 42 42 45 §_
FF 15 15 17 9 8 40 63 50 52 55 2
FF17 17 20 11 9 50 77 62 61 6.6 L
FF 20 20 20 11 9 a7 85 70 68 6.6

FF 25 25 24 14 10 63 98 80 79 9

FF 30 30 27 18 9 75 17 95 93 11 17 11

103



Z Jd33T-Ap-XB-F

(T

Ci C2
L1 L

Unit : mm

H b:tU.DZ h:tU.DZ

Brai0 3 08 F250 [R5 29151 6 N 3 6 60 39 30 22 34 325 15 46 &5 6.6 108 & M4 16
BKAZ2 120260 e 29,505 i3 6 60 43 30 25 34 325 18 46 55 66 108 15 M4 19
BK 15| 158 "27 |[h6 821 6 5 6 70 48 (35 28 40 38 18 54 55 66 11 65 M3 22
BE7 | i B 35008 9 44 | B Y 8 86 64 43 39 50 55 28 68 66 9 14 85 M4 24
BK20 | 20 (35 |8 |43 8 |[19 8 88 60 44 34 52 B0 22|70 |66 9 |14 85 M4 30
BR250 B25 FA2 | S 28 64| B9 8 BR2E E08 06T L8063 R48 1 64 NiF0 N FB3IE B85 G A a7 s EMEE S35
BK 307 | 30" | 451 40 61 S ei ) F23 28 E89S Nedl | FEAN 760 |78 F38 1 02 1 E 1A F200 B3 FME T 40
BK35 35 &0 14 67 12 26 12 140 96 70 52 88 79 35 114 11 14 20 13 M8 50
BK40" | 40| 61 481761 15183 || 14 4601 108 801 | 60 00| 90|37 (480 45 B8t | 261 175 | M8 - 50

104



_ (  SupportUnitOfBall Screw

6.6 BF ( Floated Side )

n
s
>
s
=<
o
H1 i
™"
&
~ﬂ ]J
3 'r!__-__':.::::::?‘
e ;:; oS .
a‘ I:j,fr':'-—:::,/
P-'-_I-I 1
@ '

-

Unit : mm

Model No. pio02 002

BF 10 8 20 60 39 30 22 34 32.5 15 46 5.5 6.6 10.8 5

BF 12 10 20 60 43 30 25 34 32.5 18 46 5.5 6.6 10.8 2
BF 15 15 20 70 48 35 28 40 38 18 54 5.5 6.6 11 6.5
B ERiir 17 23 86 64 43 39 50 55 28 68 6.6 9 14 8.5
BF 20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 8.5
BF 25 25 30 106 80 53 48 64 70 33 85 9 11 iz 11

BF 30 30 32 128 89 64 51 76 78 33 102 11 14 20 13
BF 35 35 32 140 96 70 52 88 79 35 114 1l 14 20 13
BF 40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5

=
=
|
=
[=]
o
o
>
(7]

105



6.7 EK ( Fixed Side )

I EK4 ~8 EK10~ 20

_
X

4-X drill through eY
-3 counter bore depthZ

2-X drill through aY
counter bore depthZ

s
|
H

H1

Unit : mm

d1 bﬂ),oz ht0,02 B1
EK 05 5 16,5 55 185 3.5 36 21 18 11 20 8 28 4.5 = = M3 "
EK 06 6 20 5.5 22 3.5 42 25 21 13 18 20 30 55 9.5 1 M3 12

EK 08 8 23 7 26 4 52 32 26 17 25 26 38 6.6 1" 12 M3 14
EK 10 10 24 6 285 6 70 43 35 25 36 24 52 9 = = M3 16
EK 12 12 24 6 295 6 70 43 35 25 36 24 52 9 = = M4 19
EK 15 15 25 6 36 5 80 49 40 30 41 25 60 11 = = M4 22
EK 20 20 42 10 50 10 95 58 475 30 56 25 75 11 == = M4 30

106



S
=
Q
(/7]
©
m
e
@
=
=
=
t
(o}
o
o
=
(V2]

6.8 EF ( Floated Side )

2-X drill through

B1

4-X drill through @Y counter bore depthZ

—

EF10 ~ 20

EF6, 8

. mm

Unit

oo Bl || R

+0.02
b

d1

Model No.

yun yoddng

o
0

12 42 25 21 13 18 20 30

6

EF 06

14 52 32 26 v 25 26 38 6.6 11 12

6

EF 08

20 70 43 35 25 36 24 52

8

EF 10

20 70 43 35 25 36 24 52

10

EE 2

20 80 49 40 30 41 25 60

15

EF 15

26 95 58 47.5 30 56 25 75 11

20

EE 20

107



108



